
II  .

 1s 1s 2s 2px

2py 2pz

1s

1s 2s 2px 2py 2pz z H-F

 (10
3
 kJ mol

-1
)

1 2 3 4 5

(-68.010)   (-3.833)  (-1.506) (-1.216) (-1.216)

(H 1s) -0.005 0.150 -0.534 0 0 
0 0 0 1 0 
0.022 0.947 0.411 0 0 
0 0 0 0 1 
0.995 -0.251 -0.078 0 0 
-0.003 -0.078 0.698 0 0

 1s

 2pz

 
 

 1.795 ×10
3
 kJ mol

-1



 (A → P)  –d[A]/dt = k1[A] k1

   
xa

a

t
k ln

1
1

a A x t A

 (2B → P)  –d[B]/dt = k2[B]
2

k2

               
)(

1
2

xbb

x

t
k

      b B x t B

t1/2

          

 (mol l
-1

) 0.0100 0.0300 0.0500 

 (s) 200 67 40 

C

2
2

1
1

P2C

PC

k

k

     

        C [C] P1 P2

C  0.00100 mol l
-1

P1 P2

10 k1 / k2



  
 

    T P0    dn r

    d r P

    
    
    R= 8.314  J K

-1
 mol

-1

  
  
    
  M dn M r

    
  ln(P/P0)    
  P P0    
  25 ºC  71.96 10

-3
 N m

-1
 997.0 kg m

-3
 3.168 kPa 

    0.1 m


